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301 getEasg 7,200 7,200 0
10 AIAHIEA S 7,200 7,200 0




2 HHKRD
HH: AlDID EHEtE KXISE
ool X o2 - S8 22 (et A9
SN HE - SR(B) - MRAY - BES ol arey o HI D2
| | OANBooE s 2UE28 29 AUy 20,0008 * 30 * 122 7,200
QIZEAISI & X SEXIJ 900,770 1,209,243 N308,473
[ 6,000
Al 894,770
QIZHALSI &R K& 53,000 353,500 300,500
307 QI2t0lHA 23,000 43,000 20,000
04 DIZHSHAIE X 23,000 43,000 A20,000
O MER0l5l 6.25 J|E A 20,000,000 * 14! 20,000
O NssdHY Hesd I S8 3,000,000& + 14! 3,000
402 RIZERIE0IA 30,000 0 30,000
01 QIR=EE 30,000 0 30,000
O Al T2l gl B 30,000,000& * 14! 30,000
MOFSXER 2% X2 60,350 52,475 7.875
= 6,000
Al 54,350
202 it 600 225 375
01 2ol 600 225 375
O MOFEZXEA M=2013] oL o4l 75,0008 * 29 * 2 * 13| 300
O MOFSXISX ®Ohal ot oib| 75,0008 * 2% * 22 * 13| 300
301 gBtgaza 39,750 32,250 7,500
= 6,000
Al 33,750




SA: XA
S A2 Sots AXHE
SH9l: DIZIARSICHY SR CERL]
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
02 Fst=xsia 12,000 12,000 0
O MOEESXEA HHEE S 12,000,000& * 14 12,000
& 6,000
Al 6,000
10 HAABIZ2a= 27,750 20,250 7,500
O MOISLSY 0H] 24(8E52H+H) 75,000 = 100 *» 2& 15,000
O MOtESXNEA =03 4 Odl 24 75,0008 * 358 * 2« 5,250
O MOFEEXNEX dElial 34 Odl 24 75,0003 = 1008 = 1 7,500
307 @lztold 8,000 8,000 0
04 QIZHHALE X 8,000 8,000
O MOIESXZA - RH3E &8 =83 8,000,000& = 13l 8,000
402 212t Xt=01A 12,000 12,000 0
02 SI2FCHE ARSI 12,000 12,000 0
O MOE2u=4 ?5u=FH| 120,000& * 100 12,000
ABlEHERZ XI& 748,420 763,268 N14,848
201 €Bt=2gH] 5,640 7,208 A1,568
01 A2ty 5,640 7,208 A1,568
O get=EH| 4,640
o ZE MM RS SEW M 120,000 * 1274 1,440
o MISHEEXZ It ROl 10,0008 * 300% * 12 3,000
o B9 MA(2X3 uE ) 100,000& * 22| 200
O 28+ 1,000
o AtlHHEXS N2 3s =4 100,000& * 58 = 23l 1,000




A BIXAD
S A2 Sots AXHE
£H9l: DI2LALEI T S XIS (crel: mg)
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
202 O4H 1,280 0 1,280
01 =LHoiHl 1,280 0 1,280
O AMEHEXS 8¢ Xl AN=Ea 20,0008 * 28 = 42 » 83 1,280
307 212t01 ™ 741,500 756,060 14,560
03 At=lEHHEXS 741,500 756,060 214,560
O AtzltMExS X 741,500,000& » 14 741,500
QUZHEA ALK 39,000 40,000 21,000
307 @z2told 39,000 40,000 21,000
02 QtFHEx 20,000 20,000 0
O HgSEXY AU NHHH 2EEx 20,000,000& * 14| 20,000
04 QIZHHALE X 19,000 20,000 1,000
O ScHAAEl Okt - A 8,000,000& = 14| 8,000
O HsSEJ| M2s=l =8=sA &l 5,000,000& = 14| 5,000
O HiCH &8 Jt30| SHEES At 2,000,000 * 34 6,000
SHs g4I NE 3,988,110 3,629,724 358, 386
s8s 2gNE 1,680,717 1,332,717 348,000
206 XZH 72,000 72,000 0
01 W2l 72,000 72,000 0
O Stts sH9AL 3,000,000& * 14 3,000
O Actd SHAY 4,000,000& * 14 4,000
O &% SH9AL 4,000,000 * 14 4,000
O =t SHAHY 2,000,000& = 14| 2,000
O &d SAH 2,000,000& * 14 2,000




SA: XA
S A2 ols AXIHE
ol SoIS HFX A CERE
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O st&H SHAY 2,000,000 = 14 2,000
O &atH SNA& 2,000,000& * 14 2,000
O S22 sYAHY 2,000,000 * 14 2,000
O stdls SHAY 3,000,000& = 14| 3,000
O sds s%9AL 3,000,000& * 14 3,000
O 73 S%9AY 2,000,000& = 14| 2,000
O ZE8s s%9A4 2,000,000& * 14 2,000
O N2s SHAY 2,000,000& = 14| 2,000
O Hus sHAL 2,000,000& * 14 2,000
O =8 &% 3,000,000& = 14| 3,000
O 2853 S99 3,000,000& * 14 3,000
O UNsS SHAY 3,000,000& = 14| 3,000
O 2+ S%9AL 3,500,000& * 14 3,500
O 0l8s S99 3,500,000& * 14| 3,500
O E8s s%9A4 3,000,000& * 14 3,000
O HES SXAY 3,000,000& = 14| 3,000
O 43S S 3,000,000& * 14 3,000
O NS SHAHY 2,000,000& = 14| 2,000
O HEs SHAHL 2,000,000& * 14 2,000
O &8s SH9AY 4,500,000& * 14 4,500
O des sH9AL 2,000,000& * 14 2,000
O RBes 9 1,500,000 = 14| 1,500
401 Al&ZHIZ SO 1,608,717 1,260,717 348,000
01 AlZH] 1,608,717 1,260,717 348,000
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2N XN
MM OlA - ZH2Y
el AZA EH (crol: =gl
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
O M=4A a8Xze| IR (YAXIAD) 8,256
o JlEga 32,0003 * 18 * 5 » 43 6,880
o =xt=Y 32,0003 * 1H = 43 1,376
O MsAds 2eld (M) 18,029
e JlEa 32,6603 * 2F * 5 x 46=F 15,024
o =Xt=Y 32,6603 * 2F » 46 3,005
O SMPSE MAed BX (=) 8,832
o Jlza 32,0003 * 1H * 5& » 46 7,360
o =Xt=¢ 32,000 * 1H * 46 1,472
O 221 A 1(22) HA1(01=), ANLAM(EZ) 36,058
e JlEa 32,6602 * 4% » 5 * 46 30,048
o =XtY 32,6603 * 48 » 46 6,010
O SR - SFE2(HY), S FF(=E), E1(23H0=) 48,963
o Jlzg 35,4803 * 5H * 52 » 46 40,802
o =it 35,480% * 5 * 46 8,161
O HXAZDNEH 2A2l0IsE2) 9,155
e JlEa 35,4802 * 1& » 52 » 43 7,629
o =xt=Y 35,4803 * 198 » 43 1,526
O HAEIZBZEJIANE(0Y), ALHFHAAL (SAIHE) 17,458
o Jlza 36,3703 * 2H * 5& » 40=F 14,548
o =Xt 36,370 * 2 * 40= 2,910
O 2LUMRIEZ HAUSAH ZAHEZ) 10,040
e JlEa 36,3703 * 1H * 5 » 46=F 8,366
o =xtY 36,3703 * 198 » 46 1,674




SA: XA
MM OlA - ZH2Y
el AZA EH (crol: =gl
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O 01 Sstat M= 2el(agn) 12,015
S 43,5303 * 18 * 5& » 46 10,012
o =g 43,530 » 18 = 465 2,003
O W83 d8F 22(TAIDIS) 145,006
o JZ28 38,730 * 13Y * 52 x 48 120,838
o FXt=d 38,7303 * 13& » 48 24,168
O 2HZoHA 22 S AR (22D 11,662
o Jlas 42,2503 * 18 = b& = 465 9,718
o F=itxg 42,2503 » 18 * 465 1,944
O BHAFEA Bhze|(2Hd) 11,320
o JlZ28 41,0103 138 = 5& 46 9,433
o FXt=d 41,0108 » 18 » 46= 1,887
O &t - AU2(EH), SBELEU2, HALSI(EAAY), HAAE (EA2) 76,392
o Jlza 46,1302 * 69 = b& * 465 63,660
o F=Xtg 46,1302 * 69 = 465 12,732
O EAIBH7,2SEFX5(33M) 156,394
o JlZ28 47,2203 » 128 52 « 46 130,328
o FXt==d 47,2203 * 129 » 465 26,066
O 38+ 2e(AL) 15,346
o Jlza 55,6003 * 18 = 5& = 465 12,788
o F=Xt=g 55,600& * 18 = 465 2,558
O 9gs 2 HREx 9,622
o JZs 34,860 * 18 = 5& » 46 8,018
o FXt=d 34,8603 * 18 * 46 1,604




SA: XA
M OlA X2
el US4 EX (SHol: &)
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O 232 NsEE2 HIRA 9,622
S 34,860 * 198 = 5& » 46 8,018
o =g 34,8002 * 18 = 465 1,604
O EMUISHA QASE (AT, OtE SR, &X) 35,328
o JZ28 32,0008 * 48 = 5& » 46 29,440
o FXt=d 32,0003 * 43 * 46 5,888
O SHUFSHA QIASE (LT, 01R) 6,912
o Jlas 32,0008 * 2& = 5& = 185 5,760
o F=itxg 32,0008 * 2& = 18 1,152
O JIZtHZ22 X Atel2E RE= 67,014
© AUEE (A, =0, 0E, &) 672,874,0008 * 9.86/100 66,346
o LOEIILRYEE 16,485,413% * 4.05/100 668
O glgoty Mg Il=H(5t=, s5) 250,000  2& * 23| 1,000
201 €BH=gHl 19,350 8,496 10,854
01 AtR22lb] 15,150 6,700 8,450
O get+=Zd 15,150
o HFHY ueln + 5,500 = 9005 4,950
o AEH M 4,000& * 600 2,400
o HMgNEAS= AN RO 10,000& = 300 3,000
o Jl7HE N 1,000& = 1,60004 * 32l 4,800
02 s==2gHl 4,200 1,79 2,404
O ANE&HI=XHI 4,200
o EEIIZ2 3 s 4,200,000 * 14 4,200
306 = 300,000 607,295 A307,295




S HEX

D O N
HE: OIN - XY

ol AZA EX e (ol @
SN HE - SR(B) - MRAY - BES ol arey o HI D2

01 &¢3 300,000 607,295 A307,295

O 32& 22 - 4 =221000 stki=z 300,000,000& * 13 300,000
SR HRuNE 2Z 636,800 759,800 A 123,000
SR HFsE oS S8 ZMLHE D¢ 636,800 759,800 A 123,000
201 LEr2E| 108,000 123,000 215,000
01 ArS2teld] 108,000 123,000 15,000

O dek=2H| 8,000

o 20098 XIZHH Ao == I 2l 20,0003 * 2002 * 28 8,000

O fIg =] 100,000

o S22 WUsIE S W= 100,000,000& * 14 100,000
202 04dl 528,800 636,800 108,000
01 =3LHAbI 496,800 601,800 A 105,000

O d&EAUal &It 75,0008 * 6F * 43| 1,800

O 20098 B2 495,000,000 * 14 495,000
04 =HstoH| 32,000 35,000 A3,000

O 273 W=l 32,000,000 * 14 32,000
Jigt2 st 641,826 633,067 8,759
AXIME &Ast 122,368 122,432 N64
DIXXIHIE! S3HAY = 89,490 70,141 19,349
201 LEr2EY| 8,720 8,501 219
01 ArS2teld] 8,720 8,501 219

O et=2H| 8,720

o =R 2% g8 8= 250,000& * 4004 * 23] 2,000




A HEXRA
& =X Dtz st
ool FUAXIHE 84dat (&2 &)
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
o HAItHE &+=2 M 60,000& * BIH2 * 23] 720
o FRUXNXEEH 28 SEMA MZ 4,000& * 1,5002 * 13l 6,000
202 O4dl 3,270 2,340 930
01 =W 3,270 2,340 930
O =QUXNXINEH 2 AW N=EH 20,0002 * 2% * 4 » 123 1,920
O FUXXME &KX HAs 75,0003 * 2H » 32 x 13 450
O d=2 FOUXNXLHELE S ESAE ZA 75,0002 * 2% * 32 x 13 450
O &= FOUXXLEHS S &2 75,0003 * 2% » 32 13 450
301 LetEasg 39,600 26,400 13,200
12 JIEt2A3 39,600 26,400 13,200
O F=UXXIHE HESAA AHI24 150,000& * 22H * 128 39,600
303 Z&a= 2,900 2,900 0
01 Z&3 2,900 2,900 0
O FRUXNXHE 2% B HIHEMHLD) 2,900
o FR=d 1,000,000& * 1JH2A 1,000
o 500,000 * 2JH2 1,000
o ey 300,000& * 3IHA 900
307 2I2+0lM 35,000 30,000 5,000
04 GQIZHHALE X 35,000 30,000 5,000
O =LURXHEH SstAt =& 15,000
o &2 gl SYs(ZHEs) 10,000,000& = 12l 10,000
o SO SR SY3(FES) 5,000,000& * 13] 5,000
O &= FOUXXNHEHLSHS RsAtdl ES 10,000,000& = 24! 20,000




2N HEXE N
& =X Dtz st
ool FUAXIHE 84dat (&2 &)
SA - FHB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
FOIXX 2 et 32,878 52,291 219,413
201 Ler2d 5,650 3,345 2,305
01 AtR22H| 5,650 3,345 2,305
O get=2H| 3,550
o FUMXAXE /3Es € AXKAY w0 5,000& * 600 3,000
o ANRES P 150,000& * 14 150
o =0 M 200,000& * 23l 400
O 2g8=+HE 2,100
o ESXEL ZAE 300,000& * 2% » 1 600
o FOUXNXAY 2t RRAAH(CMUIZE) 500,000& * 1&€ * 1 500
o FUURXAIE f2s ZAH(OHIEZE) 500,000& * 2% » 1 1,000
202 04dl 300 300 0
01 WAL 300 300 0
O FUMXARE /3s ¥4 2 ol 75,0003 * 2 » 2& x 13| 300
301 YErEAE 26,928 48,646 A21,718
10 AIAHIZE A= 26,928 26,646 282
O &= FOUXXHEHSES FRI X 40 75,0003 * 5F x 2& » 22004 16,500
O =UMXAYE /135 4 o 27,0002 * 22 » 1 * 23] 1,188
O FUXXHME S=NASAHL AHHAIE K| 75,0003 * 2H x 22 x 22004 6,600
O FLUAXAHE 23| 3o &I AHIEa 10,000& » 229 » 123 2,640
FOXXIHE 2 XA 519,458 510,635 8,823
FUXXMH 29 R Al EH X2 519,458 510,635 8,823
201 LEr2Ed| 408,920 412,000 A3,080




A HEXRA
& =X Dtz st
el =UNXMH 2SS XA (&&=
SN HE - SR(B) - MRAY - BES ol arey o HI D2
01 ArS2teld] 297,600 350,400 252,800
O ek=2H| 297,600
o FRUXXIHEH 2Eh| 1,100,000& * 22JH4 » 12& 290,400
o FOURXHEH 2018 fIE++2(8&,8d M2, 0L, 24, 85)
100,000 * 6IHA * 12& 7,200
02 =324l 111,320 61,600 49,720
O 3=22 % HA 63,800
o FOUNXHEH 22323 = 200,000 * 22044 + 12& 52,800
o FOIXXIME AAOIER 2t 500,000& * 22742~ 11,000
O A4 &S XY 47,520
o FLUXXIHE Al-EHI SR 180,000& * 22004 » 123 47,520
202 O4dl 1,920 1,920 0
01 =UHbI 1,920 1,920 0
O Jl2gs =& 2 20,0002 * 2% * 4 » 123 1,920
401 Al&HIZLS0HYI 50,500 10,000 40,500
01 A€l 50,068 10,000 40,068
O 8&H FUNXIHEH HE 4X 1,500,000& * 14 1,500
O NZE 24 2AE B 3,000,000& * 14 3,000
O Hus FLUXNXHEH 2352 &X 1,000,000& * 14 1,000
O 238 FUNXHEH A4 AFRIE EXISA 10,000,000& * 1JH4 * 98.92/100 9,892
O &= FUNIHEH OSHA USSA 30,000,000 * 1014 * 98.92/100 29,676
O E4s FUNIEH 228 oIt B2t8 &X 2,000,000& * 1JHA 2,000
O B&=s FUNMIHEEH Tl ¥ L3 At 3,000,000& * 102 3,000
03 Al&R0HH 432 0 432




SA: XA
g2 FURX] J1gr2 5t
SRl FUXRME 22 (et &)
SA B C(3) - MIRAY - BES Ofl &t e HI DS
O 2323 FUNKHH A AT EXSA 10,000,000& * 1JHA = 1.08/100 108
O 245 FUNMNUE UM SdSSA 30,000,000 * 1JHA = 1.08/100 324
405 AH&HFSH| 58,118 86,715 N\28,597
01 N ESSHSH 58,118 86,715 A28,597
O ActH 4,200
o MEY o - HAI[(RBH) 4,200,000 * 1CH 4,200
O =&d 300
o HEI(HZ0I) 50,0002 * 6LH 300
O s&8s 1,800
o dl .28 500,000& * 1CH 500
°o RIIE ZH 10,0008 = 504 500
o A=S=01(3nel, 02) 800,000& * 14 800
O gtels 7,300
o 2EXEJI 2,700,000& = 2CH 5,400
o AJ|F(ADIADA) 1,900,000& * 1CH 1,900
O &7s 3,700
o dFE o - HAI(158E) 3,000,000& = 1CH 3,000
o & OrAHKID| 350,000 * 2CH 700
O 8= 2,732
o SS=0(1Z 2 48) 727,000 * 14| 727
o dAJF(HXZefA) 605,000& » 1CH 605
o dAJ[F (St OFAIKIDI) 700,000& * 1CH 700
o Ot NE(Zelth Z8) 700,000 * 14 700
O NS 2,700




SA BEXAD
HM: FOITX 843
CHel: FOIRRIME SR
SN EB - BRAEA) - MRAE - BES 0f ¢ o e
o L2 300,000 * 1CH 300
o AZ2Es0I(Z, 37 S) 2,400,0008! * 14! 2,400
O tns 1,000
o S31J1(UILVA) 1,000,00084 * 14! 1,000
O gss 4,275
o Z2=0/(¥7 2 33) 4,275,0008 * 14l 4,275
O OiME 4,030
o Al2s0l(Bel 2 55) 3,280,0008 * 14! 3,280
o 0" ME(Helth Z&) 750,00094 * 14l 750
OnEs 1,870
o J0 AFFA =2t240] DA 935,000 * 20K 1,870
O 248 6,800
o HAIA(HMAEDYA) 1,700,000 * 1CH 1,700
o EAJ|R(HEEZ20]) 1,700,0002 * 1CH 1,700
o AR (HIUAHM) 1,700,0002 * 1CH 1,700
o HAJR(AIEIEY =Y A) 1,700,000 * 1CH 1,700
OR==1= 10,500
o HAI|R(AL A 2,300,0002 * 2CH 4,600
o EAI|T(FAIMOIZ) 1,100,000 * 1CH 1,100
o HAJR(HAEZTHAMA 1,700,000 = 1CH 1,700
o AR (HIAAHM) 1,700,000 * 1CH 1,700
o HAI|R(CIOIHEDH ) 1,400,0002 * 1CH 1,400
O u=s 1,000
o HOl|A EXt 250,0002! * 474 1,000




S Xt
FOIXX D845t
FOIRKIME 2HX S (crel M)
SA-HH . O (SIH) - MEAY - BAES O &b o4 o HIDS2
O &8s 3,561
o MEE W . )| 3,000,000& = 1CH 3,000
o RHRND| 2 25 561,000& * 1A 561
O =tts 2,350
o HEAJR(ADAMHA) 1,900,000& * 104 1,900
o EAJ|R(CI72}OIRIX]) 450,000& = 1CH 450
HYESHAH|(HA X1 23,382,773 19,098,770 4,284,003
OlHESAY|(EZ) 18,638,290 14,541,872 4,096,418
ol 2 A| 18,638,290 14,541,872 4,096,418
101 o1 H| 3,125,923 1,154,431 1,971,492
02 =% 2,394,116 265,000 2,129,116
O AlZIZ22+Z(xzU2) &s2el 2,070,384
o bg 9,796& * 38H x 25A|2F = 128 111,675
o 2(0ls) 8,312& * 204Y * 25A12t » 128 508,695
o 78300Is) 7,457 * 388H x 25A|2F « 128 867,995
o 82(Jls) 6,682 * 213Y * 25A12F » 128 426,980
o 930JIs) 5,993& * 709 x 25A|2F = 128 125,853
o J|ls10=2 5,4223 * 159 * 25A12F = 128 24,399
o HAJPAL 7,9783 * 2 x 25A12F = 12& 4,787
O AM2UA2L24S ZUS(20120 =M H S XX MAIRA) 58,732
o bg 9,796& * 3H * 57A|2F = 12& 20,102
o 62 8,312& = 5Y * 57AI2t » 128 28,428
o 73 7,4573 = 29 = 57AI2t » 12& 10,202
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O 2000 FOEXR+E 60,000,000& * 4% 240,000
O XIEH=Y 5,000,000& = 5& 25,000
09 SIHAZZNES 731,807 889,431 A157,624
O =uUALEE FE=S 5,096, 190,000& * 2.54/100 129,444
O LoEIIQAYES 129,444,000& * 4.05/100 5,243
O =2d=s FE= 5,096,190,000& * 4.5/100 229,329
O NEEE 116,829
o dgz=0 5,096, 190,000& * 9/1,000 45,866
o NEMIEE= 5,096,190,000& = 1.5/1,000 7,645
o ANYUSHINLEE= 5,096, 190,000& = 8.5/1,000 43,318
o NEZE itz 20,000,000& * 12l 20,000
O UHEE 2= 5,096, 190,000& * 10/1,000 50,962
O RIHSZ 22X &l &S 200,000,000& * 14 200,000
203 EF=4bl 37,550 35,600 1,950
02 FHRAJAAREFIY] 37,550 35,600 1,950
O 28 A=X ADIDE BHI(7352)
80,0002 «1002&+60,000:& 200 +45, 000 *300&+30, 0002 135 37,550
303 Za=s 4,078,156 4,095,981 AT7,825
02 Huaoi=s 4,078,156 4,095,981 AN7,825
O 200949 & Ha0i=(1,7408) 3,113,095, 700 * 12| * 131% 4,078,156
04 HA=FESS 11,228,661 9,069,860 2,158,801
01 ¢=RE=3 9,466,319 7,048,654 2,417,665
O sRAd=sFEs & 2d= 44,723,746,000& * 15.285% 6,836,025
g Mg B3 44,723,746,000& = 5.6602% 2,531,454




M XD
HE: SN SR (HFXAD)
cHol: ol2iRoly|(S) (e &
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O SR M= 44,723,746,000& * 0.221% 98,840
02 =RAHLEES 1,762,342 2,021,206 A\258,864
O =uALEE BE=2 66,682,870,000& = 2.54/100 1,693,745
O LI RAEE 1,693,745,000& = 4.05/100 68,597
307 @lzZtold 168,000 186,000 /18,000
07 d=klss 168,000 186,000 /18,000
O SREMd 22 6,000,000 * 14| 6,000
O M2x?= 2,700,000& * 60 162,000
elg =gl 162,389 281,760 A119,371
el =gyl 162,389 281,760 A119,371
101 el 19,289 147,360 A128,071
08 JIEtA=E 5,708 3,425 2,283
O FHIE NA2RE == 68,3423 = 38 = 2B5A12F » 123 5,708
09 PIAAZZ2XNES 13,581 2,000 11,581
O RINHAZ2EX A2LA2R2EH(8Y) 12,381
o =ZARA 4, 7708 138 = 20Al12t = 128 1,145
o YHASH MBS 7,140 » 38 * 20A12F » 128 5,141
o WHA 6,460 * 18 » 20AI2t » 123 1,551
o AZEE2UE 6,310& = 2& = 20AI12F » 123 3,029
o HeA 6,310& = 18 » 20AI2t » 123 1,615
O g2tal 224 M= F(6t=, %) 200,000 * 3¥ * 232 1,200
203 FR=&bl 143,100 134,400 8,700
01 JIZ23g2=al 138,600 126,000 12,600
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SA: XA
HE: NS AR (HFXAD)
£hel: D=3 (ol Hd)
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O NE&HI=A8I 5,303
o NRYEad SHAY 5,303,000& * 14 5,303
202 OfH] 49,150 59,433 210,283
01 =W 49,150 59,433 10,283
O =Ll SHAH & 49,150,000& * 14! 49,150
HE2EHI(SHS) 1,006,833 833,684 173,149
SHSUEEE 1,006,833 833,684 173,149
101 Q1AH| 722,393 565,584 156,809
02 =¢ 672,435 558,861 113,574
O NZI2f+2 ZU=2(8 3 380%) 672,435
o 5z 9,796 = 278 * 20A12 = 128 63,479
° 6201s) 8,312& = 788 x 20AI2t = 128 155,601
o 6= (8 SHUFEE D) 8,312 = 78 = 20AI12t » 123 13,965
o 780018) 7,4573 = 808 * 20Al2t = 128 143,175
o 8z5(1s) 6,682 * 101  20A12t ~ 128 161,972
° 98071s) 5,903 = 878 x 20Al2t = 128 125,134
o JIs108 5,422 = 78 = 20A12t » 123 9,109
09 PIAAZZ2ANES 49,958 6,723 43,235
O S=A SE2E 52228 47,220 » 1 « 58 * 150% 4,109
O &3 & &30/t LISHI(E3, 3t84, &4t5) 3,120
o Ng= 50,000 = 128 = 23l 1,200
o Yot 80,000& * 12 « 13l 960
o 22 20,0002 = 128 = 13 240
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SA: XA
HE: SN SR (HFXAD)
ctelr J=ZHI(EHS) (S d &
S B S9(S0) - MRAE - BaS Of ¢ o o HIDS
O L=t s8s SYAHY 3,320,000& = 14 3,320
O St 88s SYAY 241,180,000& * 14 241,180
O Sz sHS SHAY 31,000,000& * 14 31,000
02 s==2gHl 1,428,989 1,246,832 182,157
O 5832=s % MM SHsS SHAH & 897,189,000& * 14 897,189
O ggH sHsS SHAY 84,000,000 * 14 84,000
O ANEZHIRAH S8HS SHA Y 130,000,000& * 14 130,000
O Ztgfdetdl s8s XA 317,800,000& *» 14| 317,800
202 OfH] 958,485 951,285 7,200
01 =LHoil 111,285 111,285 0
O =U0Hl S2HsS S84 111,285,000& * 14| 111,285
02 A0l 847,200 840,000 7,200
O Ed0Hl s¥Hs s 200,000& * 353H = 12 847,200




